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Name: ______________                Date: _____________ 

 

Unscramble the sentences. Write them correctly. 
 

1. apple an is There.  

_______________________________________________________________________ 

2. banana a There is. 

_______________________________________________________________________ 

3. a mango There is.  

_______________________________________________________________________ 

4. is orange There an. 

_______________________________________________________________________ 

5. is There pear a. 

_______________________________________________________________________ 

6. two apples There are. 

_______________________________________________________________________ 

7. three pineapples There are. 

_______________________________________________________________________ 

8. four watermelons There are. 

_______________________________________________________________________ 

9. mangoes There are five. 

_______________________________________________________________________ 
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Teacher’s answers 

 

1. There is an apple. 

 

2. There is a banana. 

 

3. There is a mango. 

 

4. There is an orange. 

 

5. There is a pear. 

 

6. There are two apples. 

 

7. There are three pineapples. 

 

8. There are four watermelons. 

 

9. There are five mangoes. 

 

 


